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for( i = 1; i <= n; i++ ){
for( j =1; j <=n; j++ ){
if(i==3j){10[i10] =1; }
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ulil [j]1 = alil[j1;
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for( i =1; i <= n; i++ ){
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for (i = 1; i <= n; i++) {
s = al[i] [i];
for (k = 1; k < i; k++)
s —= sqr(L[i] [k]);
if (s < 0) {

exit(0);

}
L[i][i] = sqrt(s);
for (j =i + 1; j <= n; j++) {
s = al[jl[i];
for (k = 1; k < i; kt++)
s -= L[j1[k] = L[il[k];
L[j1[i] = s / L[i1[il;
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ggbbobuoogobbooogbbobuoooobbouooobobbooogbobboo
gobboboooobboooooboboooobbbooooobbbooooobobooboo
ggbboboboboboooobbbouoooobbbuoooobbbooooobbooao
goon
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8.4 OO

0000000 L0000 P 00000000000000000000000
D000000000LUDOOO00000 »#/3+0n?)0000LDLT0000000
D0n*/6+0(r?)00000000000000000000000000000000
00000000000 00000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000LDLT00000000
00000 LUOO0O0000000000000000000000000000000
0000000000000000000000000000000
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L] [
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gobbuoogbbodg,bbuoodgbbbooobboodg,buooobboooon
gogbbobuoooobbboooobooboooobbb obboboooobobobooa.

gbboboboodgbboobboobbooobbobbuooobboobbo bo
gogbooboooooboo.

gbboguogbboobuodboobbobboobuooboobbooboobo b
gooog,00obb,0o0 bodg bbbooooobooo.

47



HRERERE

1] 0000 000000000007, 000000, 20030,
2] 000000007,0000199900
3] 000000000000, 0000,20020,

[4] G.H.Golub and C.F.Van Loan:”Matrix Computations”,Johns Hopkins,1996 O
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///////////////LDL"T_Factorization///////////////
#include <stdio.h>

#include <stdlib.h>

#include <time.h>

#define N 1000 /x0 000 */

int main(void);

int main(void){

int 1i,j,k;
double s;
double t;

double sum;

static double a[N+1][N+1]; /*a_{11}0 a[1][1]1000000O0O0O x/
static double b[N+1];

static double w[N+1] [N+1];

static double x[N+1];

static double y[N+1];

static double 1[N+1] [N+1];

static double d[N+1];

static double 1d[N+1] [N+1];

unsigned long t1,t2 ;

/A0000000%*/
for(i=1;i<=N;i++){
for(j=i;j<=N;j++){
alil [j1=3;
}
for(j=i-1;j>=1;j--)1{
alil [j1=aljl[il;

/00000 X00000x*/

20



for(i=1;i<=N;i++){

x[i]l=1;

/Ax=p 000000 BOOO=*/
for(i=1;i<=N;i++){
for (k=1,sum=0;k<=N;k++){
sum+=a[i] [k]*x[k];

b[i] = sum;

/#000000%*/

for(i=1;i<=N;i++){
x[i]1=0;

}

tl=clock();

/x| 0000 LDL~TO O %/

/L0000000000000000=*/

for(i=1;i<=N;i++){
for(j=1;j<=N;j++){
if (i==j){
1[i] [31=1;
}
else{
1[i1[j1=0;

d[1]l=al1][1];
for (k=2;k<=N;k++){

for(i=1;i<=k-1;i++){

for(j=1,s=0;j<=i-1;j++){

o1



s+=1[k] [j1*1[i] [j1*d[j];
}
1kl [i]l=(alk] [i] - s)/d[i];

for(i=1,t=0;i<=k-1;i++){
t+=1[k] [i]*1 [k] [i]*d [i];
}
dlkl=alk] [k]1-t ;
}
/00000 LDL~TO O %/

for(i=1;i<=N;i++){
y[il=b[il;
for(j=1;j<i;j++){
y[i1-=1[i]1 [j1*y[j1;

/* DL T*x=y 0 O */
/*DL"T O 0 O %/
for(i=1;i<=N;i++){
for(j=1;j<=N;j++){
wlil [j1=da[i1*1(j]1[i]; /*1[3111 00 ~0%*/

}
for(i=N;i>=1;i--){
x[i]=y[i];
for(j=N;j>i;j--){
x[i]-=wlil [j1=*x[j];

}
x[1]/=wlil [i];
}
t2=clock();

92



printf ("

return(0) ;

; hE [ms]\n",

(t2-t1)/1000000.0 );

///////////////LU_Factorization///////////////

#include <stdio.h>

#include <stdlib.

#include <time.h>

#define N 1000

int main(void);

int main(void){

int i,j,k;

h>

double s,t,sum;

static double
static double
static double
static double
static double
static double
static double
static double
static double

unsigned long

a[N+1] [N+1];
b[N+1];
ul[N+1] [N+1];
w[N+1] [N+1];
x[N+1];
y[N+1];
1[N+1] [N+1];
d[N+1];
1d[N+1] [N+1];

t1,t2 ;

/A0000000%*/

for(i=1;i<=N;i++){

for(j=i;j<=N;j++){

alil[j1=j;

}

for(j=i-1;j>=1;j--){
alil [j1=aljl1[i];

/*a_{11}Y0 a[1] 11 00000000 %/
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/00000 X00000x*/
for(i=1;i<=N;i++){

x[i]l=1i;

/¥Ax=b 000000 BODOO=*/
for(i=1;i<=N;i++){
for (k=1,sum=0;k<=N;k++){
sum+=a[i] [k]*x [k];
}

bli] = sum;

000000/

for(i=1;i<=N;i++){
x[1]=0;

}

tl=clock();

/0000 Lu00=/
for( i = 1; i <= N; i++ ){
for( j = 1; j <= N; j++ ){
if( i == 3 ){ 1[il1[j] = 1; }
else{ 1[i1[j]1 = 0; %
ulil [j] = alil [j];

for( i = 1; i <= N; i++ ){
for( j = i+l; j <= N; j++ ){
1031041 = wljl[4] / ulillil;
for( k = i; k <= N; k++ ){
uljlk] = uljl k] - wlil (k] * 1[j1[il;
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for(i=1;i<=N;i++){
y[il=b[i];
for(j=1;j<i;j++){
y[i1-=1[i]1 [j1*y[31;

}
for(i=N;i>=1;i--){
x[i]=y[i];
for(j=N;j>i;j--){
x[il-=ulil [j1*x[j]1;

}
x[i]/=uli]l [i];
}
t2=clock();
printf (" ; %f[ms]\n", (£2-t1)/1000000.0 );
return(0);
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